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SCORE Offence: 80's Diffence SELFISH Offence: SELFISH Diffence 80's
80s SEL | |Thrower result Receiver result Thrower result Receiver result
# [Name Po|Fa|Ba|Re| # [Name Ca|Fo # |[Name Po| Fa|Ba|Re| # [Name Ca| Fo
0 T 49 IR=SS 0 23 E2R A
1 1 23 B2A #\X @) 49 D BX
2 1 49 P3UIE SN @)
3 1 97 BRI @) 2 HE BX
3 1 2 B 23 RB2ZA #BX O
4 1 97 TBIR LN O 2 TP 15
4 2 2 HFE BX @) 97 18R BT
4 2 97 [T 15 AH &% @)
4 3 15 BH 55 O 97 B W
5 3 97 BRI @) 2 T B
5 3 2 B 97 1Bl T O
5 3 7 Pk —# 2 TR W53 @)
5 4 49 Bl X @) 23 BZA #\X
5 4 23 B2ZA &K 2 I 5 @)
5 4 2 TP 15 23 EBZW X @)
6 4 23 BZA #BX @) 49 T K
6 5 49 P URESN @) 97 1BI= T
7 5 97 B T O 2 HE 85X
7 6 2 B @) 97 18R BT
7 6 97 1Bl T 2 T B3 @)
7 7 15 AH &5 O 97 IR HET
8 7 97 [iEE A @) 15 AH &%
8 8 15 AH &% @) 97 1Bl T
9 8 97 B T O 2 HF BX
9 8 2 B 17 /IR BRsh O
10 8 17 /I\FX BRsh @) 13 AW EE
10 9 13 AN ER O 17 /IR B3l
11 9 17 /INEX FR3L @) 2 XX
11 9 2 R B 7 R —8 O
12 9 97 IR T @) 2 TR W53
12 10 2 B @) 23 B2ZA X
13 10 23 BZA BX @) 49 T BX
13 10 49 PESURESN 7 Pk —8 O
14 10 7 1Rk —8 @) 15 AH &%
14 i1 15 Al &% O 97 BIR T
i5 i1 97 IR T @) i5 AH 85
15 11 15 AH 8% 97 1BlR T @)
15 12 97 Bl Y O
15 12 15 AH &5 97 BIR T O
16 12 97 1a8lR N @) 49 PESURES N
16 12 49 I AR 17 /INER BR8h @)
17 12 17 /IR FR3h @) 2 T B
17 13 2 B @) 7 RE —8
18 i3 7 Pk —# @) 49 pUR=SN
18 14 49 Bl X @) 23 BZA #\X
18 14 23 B2ZA &K 2 I 5 @)
18 14 2 = B 17 X 8L @)
18 15 23 EBZA #aX @)
18 16 49 D BX @) 17 /NEX BRsh
18 16 23 BZA 8K i5 AH B5 @)
8 16 15 AH &5 97 R T O
19 16 17 NFx Rk @) 13 AN EE
19 16 13 A EE 23 EZR X O
19 16 23 BZA #\X 2 P 85X @)
19 16 2 R B 7 R —8 O
20 16 10 TEFH K8 @) 49 PUR=SN
20 17 49 P URESN @) 23 BZA #\X
20 17 23 BZA BX 2 HF 853X @)
20 18 2 TP 153 @) 97 B T
21 18 97 18R T @) 49 PESURES N
Offence: 80's Diffence SELFISH Offence: SELFISH Diffence 80's
Thrower result Receiver result Thrower result Receiver ‘ result
# |Name T |Po|Fa|Ba|Re| # [Name R [Ca|Fo # |Name T [Po|Fa|Ba|Re| # [Name R | Ca| Fo
4|50 B 0[0[0|0]0][ 2@ BX 44| 2| [ 2[@F BxX 125|000 4=0EE 0[0|0
| 7|7 —@ 3[2[0[0] 0 13[KRN E&E 210|0 13|ARM EE 21[0f0|o[ 7|FEk—& 4103
| 8|=IT K& 0Ojo|o[O0|O0|15|AH &% 5/2|0| |15/AE &5 740|000 8= K& 0|00
| 9| BE T oOlo0[O0[O0|0]49En&EX 710 0] [49ED &EX 9gle|o[1]0| 9lFE=E=F 0(0]0
| 10 |3EH K58 1]1[of[o|0|51[ILF=R ofo|0] [51|LiF=E o[o0[O0[| 0] o] 10/%H XE ofo0]o
| 23|z K 9 13[0] 1] 0] 545K % 00| 0] | 545K T 0|0[0]0]|0]23EzA#@\X 821
17|/I\3% R3h 414|10(0|0 0/0|0 0|0[O0]0]|O0][17[/I'\3x BR5h 511]2
35| 1aAf #BE ojojofofoO o[0fO0 0O[O0]O0|0] 035 #HEE o[ofo
| 97 | 1&IR T 13|10{ 0| 1] 0 0j0|0 0|0[0]0]|0]97|tx T 12122




FAC2AXHYVEFIE RB E-PAA N

Po:f8/R Fa:J7—JL Ba:/\w RXO— Re:YXRO— CaFvvF (DU—-2FvvF) FordAO—FvvF Receiver:(FUsHICEY MUDEF

=
H O OV o NV WN -

-
N

-
w

—
N

[
ul

-
(o]

-
~

-
@

-
O

N
[=]

N
=

N
N

N
w

N
N

N
ul

N
(o)}

N
~

N
[

N
O

w
(=}

w
e

w
N

w
w

w
S

w
ul

w
(o)

w
~

w
@

w
O

N
o

N
-

N
N

N
[

N
N

IS
[

N
o

IS
N

IS
3

N
%)

w
o

18]
iy

w1
N

(9]
W

SCORE Offence: 80's Diffence SELFISH Offence: SELFISH Diffence 80's
80s SEL | |Thrower result Receiver result Thrower result Receiver result
- # [Name Po|Fa|Ba|Re| # [Name Ca|Fo # |[Name Po| Fa|Ba|Re| # [Name Ca| Fo
T - 0 17 TI\Fx Bk @) 2 T B
1 - 1 2 B @) 17 /NEX BRsh
2 - 1 17 IR BBk @) 49 PUR=SN
2 - | 2 49 I ER O 17 /IR BBh
3 - 2 17 /INEX BRBL @) 15 AH &%
3 - 2 15 AH &5 7 Pk —# O
4 - 2 17 /N\FR REh @) 2 HE BX
4 - 2 2 B 97 1Bl T O
4 - 2 23 EBZW A 13 A E& O
4 - 2 13 RN IEE 17 /NEX BRsh O
5 - 2 10 TEH KiE @) 49 PESURES N
5 - 3 49 Tl BEX @) 17 II\Fx BBh
5 - 3 17 NER BREh 15 AH 85 @)
5 - 4 13 AN EE @) 97 1Bl T
6 - 4 97 B ST @) 54 BA e
6 - 4 54 AR JE 7 Pk —8 O
7 - 4 23 RB2ZA &K @) 2 5
7 - | 5 2 TP 153 O 97 B T
8 - 5 97 IR T @) 49 PUR=SN
8 - 6 49 D BEX @) 97 1Bl T
9 - 6 97 IR T @) 49 PEUR=SN
9 - 7 49 P URESN @) 23 BZA #\X
0 - 7 23 RB2ZA BXK @) 49 PEURES N
10 - 8 49 PR URESN O 17 IR B3l
10 - 9 17 /NFxR REh [@]
10 - 9 49 T BEX 17 /I\FR B8l [@]
11 - 9 97 B T O 2 HF BX
11 - 9 2 B 7 ik —8 @)
12 - 9 7 R —8 O 49 B BX
i2 - 10 49 Bl BX O 97 IR HET
13 - 10 97 [T @) 2 853X
13 - 11 2 R B @) 17 /I\ER BRBh
14 - 11 17 NER BB @) 49 PEUR=SN
14 - 12 49 P URESN @) 23 BZA X
14 - 12 23 BZA \XK 2 HE 853X @)
14 - 13 2 B BX @) 97 B BT
15 - 13 97 [T @) 2 853X
15 - 13 2 R B 97 TBIR LT O
i6 - 13 97 IR T O 54 BA TR
16 - 14 54 AR JR @) 97 1B T
17 - 14 97 TBIR LT O 2 P #5X
17 - 14 2 B 97 18R BT @)
18 - 14 97 1BlR N @) 49 D BX
18 - 14 49 JRURES N 17 X BBl @)
19 - 14 23 BZA #BX @) 2 T B
19 - 15 2 B @) 17 /NEX BRsh
19 - 16 17 /I\Fx 5L (@]
19 - 16 49 O BEK 17 N\Ex BRBh O
20 - 16 7 1Rk —8 @) 2 53X
20 - 17 2 TR B3 O 97 B T
20 - 17 97 IR T 49 PUR=SN @)
20 - 18 49 B0 EX @) 97 1Bl T
21 - 18 97 B ST O 2 HE BX
Offence: 80's Diffence SELFISH Offence: SELFISH Diffence 80's
Thrower result Receiver result Thrower result Receiver ‘ result
# |Name T |Po|Fa|Ba|Re[ # [Name R | Ca| Fo # |Name T |Po| Fa|Ba|Re| # [Name R | Ca| Fo
A5 BE 0[0[0|0]0]| 2/ BX I 1| 0| [ 2[@F Bx 10/ 60| 0| 0| 4=0EE 0/0]0
| 7|7 —&@ 2 2[00 0] 13[&H EE 1{1]0 13| ARHM & 2|1[0]0|0] 7|FE—& 311]2
| 8=/ K& oOjo|o|o|0|15|AH &% 2[00 1| [1I5|AE &5 1]0[0[0]|0[ 8= K& 0|00
EIEERS 0[0[0[0]|0]|49En&EX 9[1[0]| [49[EE&EX iI[8[0|0[0| 9FE~ 0[0]0
| 10|¥EF K2 1[1]o]o0]Of51[LF=E 0/0|0 SIS 0O|O0[O0[O]| O 10[EH XiE 0(0]0
EEIEEE S 5|30 0|0]|54&A 210 0] 545K % 2[1]0[|0|0[23[BZABX 2|00
17 |/\é% Rsh 8(5/0[2]|0 0[{0]|0 0|0[O0]0]|O0][17|/N\sk B&5h 10/ 0 4
35[iEAT = 0|0[0|0]|O 0/0|0 0|0[O0]0] O35[4 == 0(0]0
| 97 18I HETT ifjio[ 0|00 0[0]0 00|00 0|97 T 11271
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80's 2 0 SELFISH
Game Total
[Offence 80's Diffenc SELFISH Offence SELFISH Diffenc 80's
Thrower result Receiver result Thrower result Receiver result
# |Name T |Po|Fa|Ba|Re| # [Name R [Cal|Fo # |Name T Po|Fa | Ba Re| # Name R |Cal|Fo
4 51n =E 01000 0] 2/fF BX 2515 2| [ 2/fF BX 22/11 0] 0| 0| 4 &n% &% 0]0]0
7| R — 5/4/0|0]0]|13|&RHM IEE 3/1]0 13| KR4t I[E& 4121000 7 —8 71 1|5
8| =)l K 0/,0(0|0|0]|15BH &5 7121 15/78H &% 8 4,0 0|0 8=l K 0/ 0|0
O|HiE T 0/0|0| 0] 0]49EaEX 16/ 1|0 49 i EX 20(14/ 0|1 | 0| 9 EEZES=T 0/ 0|0
10 | JEH KiE 21 2/0|0]0|51umgE 0/[0|0 51| 1L% 52 0O/ 0 0| 0| 0|10 #H K= 0/ 0|0
23 2 18X 14/ 6 | 0| 1| 0 |54 &K Jat 2/ 0|0 54| 5 A 21,0/ 0| 0|23 FEZAN AKX 10/ 2|1
17 |/INZR ERsh 12/9]0]2]|0 0/0|0 0|0 0|0 0|17 /1% B®sh 15/ 1] 6
35 1847 #h3E 0/0[0|0|O0 0/[0|O0 0| 0| 0| 0| 0|35+ tHxE 0/ 0|0
o7 | #8IR EMT 24/201 01 1|0 0/[0|O0 O[O0 0|0/ 0|97 =R KT 23/ 4| 3




